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TSy « TfE - FER B {7 ¥ & & # A bl A iR
JERRH R X 1 147, 091, 523
HEELT = 1 86, 862, 310
HRHEI T = 1 748, 440 | HEHI 2,100 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
PRI (1ICT) = 1 978, 180 | #iEH! (ICT) 2,100 m3
Wy A7 by b BEFESEL 5, 000m3AT ;
BEARRE AT = 1 5,305, 650 | &I (SL42) %+ 930 m3
2. 5mATH
BRE LT = 1 38,512,640 |HEERE A 2,900 m3
4. 0mPL E
R Zp s 200 m3
WHE 1
R Zp s 1, 200 m3
REK M
PSR+ T (ICT) = 1 38, 841, 500 | EEHE L (1CT) 2,900 m3
R Zp s 200 m3
WHE T
R Zp s 1, 200 m3
REK M
5527 ) =} =X 1 2,475,900 |3E D as7)-} 655 m2
(t=10cm)
18-8-25 (20) (&) av))-MEMEBEE ;
HEKHEEY T = 1 23,519, 719
EELT = 1 439,053 | FRHE Y 1 X
+4)
HEL 1 X
FLim e 1 =
T = 1 20, 382,466 |7 Vi AMUBLAITE 1 m
240X 240 ;
7" Vv A NUBRMAITE: 69 m
(7% 2 238
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300X 300 ;

7" VR A MU
(P& s -
300X 300 ;

7" VR A MU
(P& 2R
300X 400 ;

7" VR A MU
(AN - 22H)
300X 400 ;

7" VR A MU
(PEZ R - A
400X 500 ;

7" VR A MU
(P& 2R
500X 500 ;

7" VR A MU
(P& s -
500X 500 ;

7" VR A MU
(P 2R
500X 600 ;

H 2B RS
(D-1%)
300X 1300 ;

H 2B RS
(D-2%)
HEWTH 300 X 900~1200 ;

H 2B RS
(@-1%)

HEWTH 300 X 600~1000 ;

H 2B RS
(@-2%)
$EWTH 300 X 800~1100 ;

&
2

&

&
2

20 m

9 m
85 m
17 m
27 m
183 m
82 m
32 m
50 m
73 m
55 m
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H 2B RS 16 m
(@-3%5)
HEMT 300 X400 ;

H 2B RS 52 m
(@-45)
SHEWTR 300 X 700~900 ;

ik 149 e
(P& 2R
300 41.2%9.5%X50 ;

ik 200 e
(AN - 22H)
300 41.2%9.5%X50 ;

NS 6 r5e
(P& 2R
300/ (4EKE) ;

ik 10 e
(AN - 22H)
300/ (4EKE)

ik 32 e
(AN - 22H)
400 51.2X11X50 ;

NS 1 r5e
(AN - 22H)
400 (4E7KE)

ik 207 e
(P 2R
500 62.2X12.5X50 ;

ik 349 e
(AN - 22H)
500 62.2X12.5X50 ;

ik 11 e
(P& 2R
500 (47K %) ;

ke 18 A

-3 - E ta2@d Ui




il
W
St
%
I

T4 | R6FEEKREEE ZRBREKEE (F01) 1%

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

(PE e - A3E)
500 (47K %) ;

ik 255 e
(B )
T-25 HEAU300H ;

ik 23 e
(B )
3000 (4E/kZ) L=500 T-25 ;

s

ET = 1 296, 640 | Bk )-bEAHE 16 m
(HEE)
300 ;

K vV T = 1 2,401,560 |BLGFT HAE K 1 T
BUGHTAT 18-8-25 (BrdF) L ESEAH 1E % (500
X 500X 800) ;

BUGFT HAE K 2 (£
BUGHTAT 18-8-25 (BrdF) L ESEAH IE#E (500
X 500X 1200) ;

BUGFT HAE K 2 (£
BUGFT#F 18-8-25 (FiJF) &m0 VEZEAH 1E % (500
X 500X 1400) ;

BUGFT HAE K 1 (£
BUGHTHAT 18-8-25 (BrdF) L TESEAH 1E % (500
X 500X 1600) ;

BUGFT HAE K 1 (£
BUGHTAT 18-8-25 (BrhF) L ESEAH 1E 1% (600
X 600X 1200) ;

BUGFT HAE K 1 (£
BUGHTAT 18-8-25 (BrhF) L ESEAH 1E 1% (600
X 600X 1400) ;

BUGFT HAE K 3 (£
BUGHTHAT 18-8-25 (BrhF) L ESEAH I (700
X 700X 800) ;

BUGFT HAE K 2 (£
BT 18-8-25 (@ hr) {34 1E % (700
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X 700X 1000) ;

BUGFT HAE K 1 & AT
BUGHTAT 18-8-25 (BrdF) LI ESEAH 1% (800
X 800X 1600) :

BUGFT HAE K 1 & AT
BUGHTAT 18-8-25 (BrdF) L TESEAH 1E % (900
X 900X 1800) :

U=
500X 500/ T-25 I B 45K VI EE ;

U=
500X 500/ T-2 #E 4588 VIEE ;

U=
600X 600/ T-25 W H 445% VEE ;

U=
600X 600/ T-2 FIH 458 VMEE ;

U=
700X 700/ T-25 A B 45K VMEE ;

U=
700X 700/ T-2 B 458 VIEE ;

U=
800X 800/ T-2 FH 45K VMEE ;

U V=)
900X 900 T-2 HIE 458 VMET ;

e R 32 1
W=300 ¢ 19 ;

-5 - E ta2@d Ui




B
T
iy
i
I

T4 | R6FEEKREEE ZRBREKEE (F01) 1%

TEHEX Sy - THE - R & # A EN
Bh AT L 9,321, 180
BRI RCRE T S ,321, 180 | 7" VEv AR ARt . m
B.CFEiH ;
s ALER T = 967, 170
I AALVERESE T X 967, 170 |Gl 1 X
HEE L = , 573, 464
ST % , 264,067 | D HIHiCE (0=} V) 1 A
HEYHE L T = , 950,235 |27 -MEEMEUE L 110 m3
MRS BblE T
/) ) -MEEEUE L 77 m3
ERApIEEY) FAE T ;
EhAERR G 1 2V
TAT 7 MEEERR 15emPL T
EhAE AR AR 970 m2
(HRER)
TAT7VMERZE IR BfEERRE 4 c m
EhAE AR AR 81 m2
TA77VMERZE IR Bf2ERRIE 5 cm ;
EhAE AR AR 7,310 m2
TAT7VMEHZERR AH2ERRIE 10c m ;
EhAE AR AR 460 m2
29 ) - MR EEERE 10cm
TR AL T 7,359,162 |#RiEM: 110 m3
vy )= hik (BEAR)
o 1 46 m3
(EhAE B
vy )= hik (BEAR)
o 1 77 m3
20 )= bik (BRT)
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TEHX4y « Tfd - FER & F iR
Stk 773 m3
TAT7IV NS
RISy 156 m3
/) -k (BERR)
RISy 77 m3
/) -hk (BRAD)
RISy 735 m3
TAT7IV NS
RISy 39 m3
(B EER)
TAT7IV NS
FRF LSy 13 t
AL"— H3 ;
A Y 3, 847, 680
B EHT = 3,847,680 | A EFHEEKE 1 F2V
[ERE ALy = 147, 091, 523
HiE 2 = 21, 366, 303
Hom it = 2,519, 303
HeffrE sy 2 1,190, 303 |{R5FEHL(ICT) 1 =
YATLRIE 2 (ICT) 1 F2
BGRESCGES (5 1) = 1, 329, 000
B (FEHL) = 18, 847, 000
T = 168, 457, 826
Bl gy = 62, 133, 000
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THE4 | R6EHEKEFEER ZRBRMXKR (Z01) LH
THEXSy - THE - FE5 H7 & & # i Gl N
T AT 2V 1 230, 590, 826
— e PR A E20 1 35, 399, 174
N E20 1 265, 990, 000
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